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The ruling is according =82 529 VR ik

OVERVIEW

X217 is of the opinion that if an 177X writes a 70w to his 72y stating 77 1°11p °021 92
the 7 1s 7P X? 0°001 7P xY; for we say XM2°7 1379, Then Xinn 72 XX 29
asked X217, we know the 17097 is like " who argues against w"9 and maintains
XT12>7 10375 X9, The dispute between n"2 and w"3 is concerning an P78 who
wrote a oW to the 72¥ which stated 77 7°°1p °031 95, however the 17X retained
(some of) the o°021 for himself. »n"7 maintains that m7°nh XY XY and v
maintains that M7 n% X¥°. There may be two types of explanations what the
dispute between n"1 and w"1 consists of; either whether we assume 2°0212 7»w7n
72v2 1 W (or not); or whether we say XM2°7 130379 (or not); depending on the
type of 71°w. If the owner does not retain all the 2°031 then the dispute is whether
we say 121 0°0212 w7, if however the owner retains all the property then the
dispute may be whether we say X277 73°379.

mooIn explains what is the relevance of "9 713%7 to our discussion of XM12°7 11°3%5.
- N12%7 130099 NJT 9207 PHYT XPYO NN 2299

For we initially thought that »''s maintained that ‘we do not divide a
statement’ -

Mmoo will now explain where do we find »" addressing the issue of X712°7 13°3%5:
= YNY RN KXY 779999 1239 ININD 172AN ¥IUN DYDY PYNIY 2249 9INPT

For since w''9 said in his dispute with n"9 that the slave goes free ‘always’, this
means that even! in such a situation that according to you »"9, the slave does

not go free -
= YND XY 91 I1IPAN PN NN NIN 1Y PRYI X127 19909 XYY

For you, n"7, maintain that we do not ‘divide a statement’; in a case where the
17X only owns that city which the 17X is retaining for himself,> nevertheless,
¥"9 maintains that the 72y goes out free. The '02w%' of w"3 refers back to »" with

! There may be two types of reasons why the 72 is not freed; either because we assume >n1 " D°0312 VWA
72v3, or because X112°7 11°379 X?2. When w1 says '0?71w%', which '0n explains to mean ‘even’, "1 is teaching us
that not only is he (¥"9) disagreeing with "9 concerning 121 0’0312 7w, but he is disagreeing with him even
when according to 1" he is N7 1% XY XY, not on account of W, but on account of X7112°7 11399 &Y. [It would
seem that accepting X127 12°375 is more difficult than rejecting 121 2°0512 1»w7n.]
2 In the case where the owner does not retain all the property for himself, then the issue of XM2°7 11°3%5 is not
relevant. The s'72v freedom will then depend on whether we say 131 2°0312 > Ww7n.
1
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whom " is arguing. If w"1 teaches us that even in the aforementioned case he is M7 1% R¥Y
it is inferable that according to »" he is not M1 X¥1. We are now assuming that the reason
why according to "7 he is not 17’1 XX is because »"7 maintains XM2°7 1°379 X%.3 This in
turn would pose a difficulty for X237 who maintains X12°7 11°399, which would seem to be in
opposition to the opinion of n".

NI NV 171199 INDT DIVN NIN NI 19209 NDT DIWN IND 9NN 2297 NNYLT PIUM
And the X923 concludes in defense of X327 that the reason »''% maintains that
the 72y does not go free in the abovementioned case is not because 7"
maintains XM12°7 339392 K, which in turn would present a difficulty for X2,
rather the reason why the 72¥ is not M7 1% Xx1 is because it is not considered a

document of severance
=92 99NHYN RINY 9272 9PV YUY 1120 HIN>93 AT PPRT ¥IH’*9

The meaning of the term X177 Xu°3 M1 WY is that this type of a MW ww is not
a severance between the 17X and the 72y, since there is a withholding in the

statement by which he is to receive his freedom -
= 1919 0PN 1ONY Y093 Y 9INT

For the master said ‘all my properties are to be yours’, and those words are not

entirely fulfilled; it is with these words of »021 93" that the 72 obtains his freedom. There
is no other mention of freeing the 72y, except the words of 021 93". The 72v is not receiving
(any) 0°021. The words of 771w must be without any reservations. Here however the words by
which the 72y is being Imwn, namely: “031 93’ are not being fulfilled; the owner is not
divesting himself of #0231 %>.

= NN NV 7997 999Y X127 139209 1D 1993p Y093 U5 12 21N 1V) N*ANY Taya YaN
However in the case where the 7a» brought his ©3 and therein is written ‘all
my properties are given to you’; the case that X237 is discussing, then we

rightfully ‘divide his statement’, for that is a severance document; the 72y
goes free and the 0°021 require 1"»mn o1p for the 72v to acquire them. The NTX in his
statement of MY does not withhold anything. He is not retaining anything for himself. The
fact that the 72v is not 1P the 2°021 without 21°p >7v, is no reflection on the gift of the master;
it is merely a 17 in MAYY 2vp. So X2, who maintains X7112°7 1399 can therefore agree with
n"9 that in a case where the 1R said Y7 IR XOR 17 PRI 119D YR PIn 2 PP 2001 99, he is
not M7’ XX, since it is not a XX M. Similarly »"3 who maintains M7° 1% ¥ XY in the

3 Seemingly one may ask that perhaps n" agrees to X112>7 11395, The reason he is not M7’n Xx1 (even) in this
case is (also) because 72vya 11 7»w 0°0212 7w. However, Mooin will state shortly that this reasoning is not
applicable in this situation. See footnote # 6.
4 If the 17X said *1199 ¥ppn PIN 72 7P 021 93, it is not clear, according to M90IN why »"1 maintains that X X2
1 72, Is it because this is also considered Ru* N3 W?; since *021 25 is not being entirely fulfilled, or is it
because 72y 1 W RIPWYH N, See 710,080 1P, TIRA RN,
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previous case may agree with X217 that XM2°7 1°3%9, and in the case of X2, even n"1 will
concur that 71 XY 07021 71 1MXY.

moo1n will now present s™" interpretation and refute it:
- 72¥3 513 92V DD 9V 91991D NIIRT DIVN NIN RV 719D INDT ¥ 7Y

And >'"w1 explains that the reason it is not a '8v3 n1M2' is because we can say

that since he withheld some of the 2221 he also withheld the 72.°
- 73y 593 Y NIPYY NI 991D 70U KT 990 NN XIN 1Y PN N 299

And according to s""w1 reasoning that what prevents the 72¥ from attaining
freedom 1s the concept of 72¥2 n1 7w 0°0212 7»WN; then in a case where the
117X only possesses that city which he retained; thereby not leaving for the 72
any 2°021; in such a case where it is not applicable to say since the NN is

involved in retaining 0°021 he is also retaining the 72¥ (The logic of 2031 9w
72¥ "1 W only applies when the 117X is offering his properties to the 72y and simultaneously
retaining some of the properties for himself. In such a case we say he is also retaining (part of)
the 72y and does not intend to free him®. If however the owner initially offers the 72y his
properties and then reneges on his entire offering, in such a case the logic of 3™w 0°0312 9»wTn
72y "33 "n1 does not apply. The 1K is giving the 72y nothing; neither his freedom nor his
properties. There is no reason for the 717X to give such a 7vw if he is also being 7"wn the 7av.
We must therefore conclude that he is not 9»wn the 72v.); Then in that case -

= N7 130597 MIND XYY 9INMI 29 NN
n'" would agree that the 72v goes free, for »"7 agrees with X217 n720 that

8871297 3293955 there is no oN of XY M (according to >"w7), since we cannot say W7
191 2°0212. Therefore he is M MH K.

mooIn has a difficulty with s™"w" interpretation and subsequent consequences that in a case
where 7Y INIX X9R 17 PR, then "9 would agree that M nH R>:

= INYH970 RNADINA 12 ¥yNIWN PN
However it does not seem so in the Xnpon, as I explained. In the previous mooIN
(@?w> 1"7), MooIN quoted the ¥NHDIN in which W' maintained that even in the case of 17 X
77w IR K2R, nevertheless he is M7 1% ¥, The simple reading of the Xnson would indicate
that n"9 certainly argues with " in this situation and would maintain that m7°1% X¥> &5. This

3 (@Y "7 'owa X217 7Y 1772) °"wA maintains that the scenario for X112°7 11°379 is in a case where the 717X said 73

713 N2 pIn T2 13p 0021, In this situation the 72¥ receives no 0°031 at all. The only way he is 2 mwn is if we say

X712°7 11°379. In this situation the 17X was really 2w only one M3 n»2. The reason the 72y receives no 0°031 is on

account of a ‘technicality’, that we cannot remove the 178 from any 715 n»2. See previous 2212 3"7 MO,

6 The 17X is (mistakenly) giving him this 70w so the 72y will think that he is receiving some 2°031.

7 See ‘Thinking it over’ # 1.

8 If we would maintain X112°7 1395 R? then (even though we cannot say 191 7»w7n) the 72y would not go free.

The statement of 021 93 cannot be divided, since there are no 2°031 for the 72y, there is no m17°11 for the 72V either.
3
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contradicts m»own understanding of *"w1 that in the case of 77w MIX XPR X2 PR, where the
concept of 121 9»w77 is not applicable then 1" would agree with w"9 that M K.

moo1n presents another difficulty with his understanding of >"w9
= 2V 1N IDON PYUDY

And the expression ‘even’ is not appropriate. The Xns01n quotes @' as saying -
= MINY RYT DD INVY 1D ¥ )Y DT ¥1YN 99N NN NIN XD PN 1929RYT

‘Even if he only owns this field, nevertheless he goes free’. This expression
indicates that certainly when the 17X has other properties besides the one he

is retaining, then for sure that the 72y goes free. That is the basic meaning of 17°5x;

even in this case and certainly in other cases. However, according to our understanding of *"w" —
$ 009 INY 1D Wra NON M9 XD 9NN 349 NA9IN

The contrary is true, that »''% does not argue with v"2 unless when the 717X

owns other properties. This is the exact opposite of the logic inferred from the Xnson.
According to the Xnooin there is more reason to say M 1% R¥? when there are other 2°031.
According to mooIn understanding of >"wA there is more reason to say M7°17? X¥1 when there
is no other property.

SUMMARY

Initially the X773 maintained that the reason 1" argues with ¥"9 concerning the
case where “77W MR XPX 17 TR, is because »"7 is of the opinion that 31%395 X7
XT12°7. That is why he is m7°1% X¥> 9. The conclusion of the X723 is that »n"
may maintain that X127 1395 and nevertheless argue with w"3 in the
abovementioned case; for he maintains that it 1s not a Xt°x n172.

There is a dispute between *"w" and MdOIN as to the meaning of Ry MM WKRY.
nvoIN maintains that since the NN is reneging on his original offer of *031 73, by
retaining the 2°021 for himself, there is a retention in the statement that
purportedly would free the 72¥; namely °021 9. That retention invalidates the
MW W, "W maintains that the reason it is not a Xv’3 1173 is because since he
1S 0°0212 7™Wn he is also 7ay2 W,

npoIn understands *"w7 to mean that if the X720 of 7»w7n would not be
applicable — as in the case of 7°¥77 MK X9X 1% X — then »"1 would agree that Xx¥°
m i, mooIn finds this difficult to reconcile with the Xnoown, where the opposite
seems to be true; that when it is 7°¥77 7INIX K98 17 PR, there is less reason to say
mamH RY.

® Or, according to >"w", in the case where he was 7»wn a ono 712 N2
4
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THINKING IT OVER

1. mooIN maintains that according to >"w1 when 772 WNIR KoK 19 PR, there is no
X120 of 31 7»WwTn, since the NN retains all the 2°033 for himself.!° However >"wn
states clearly that when the 17X said ano 7> n°a» v then »" and w"2 would
still argue; n"9 maintaining that Mm% X¥> X?. In this instance the MR also
retains all the 2°021 for himself and yet »"2 maintains that M7 > XY XY,
seemingly because '2.'"21 X11WH NI

2. What is the difference between the two questions mo01n asks on "1 from the
xnoown?'3

10 See footnote # 7.
1 See footnote # 5.
12 See (1"9%1 71"72) 2"'m
13 See > MIX 717 NO0.
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